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Question # 1
Find A.M. between

(i) 345 and 5v/5

(i1) x—3 and x+5

(iii) 1-x + x* and 14+ x + x°

Solution

(i) 35 and 545

Here a=3\/§ andb=5\/§,so

AM. =

(1) x—-3 and x+5

a+b:3\/§+5\/§:8\/§:4\/§

2 2

Here a=x—3 and b=x+5

AM. =

a+b x-3+x+5 2x+2

=x+1

2 2

(iii) 1-x+x>and 1+x+ x°

Here a=1—-x+ x> and b=1+x + x*

AM. =

a+b_1—x+x2+l+x+xz_2+2x2

=1+x’

2 2

Question # 2

If 5,8 are two A.Ms between a and b , find a and b.

Solution

Since 5, 8 are two A.Ms between a and b.
Therefor a, 5, 8, b are in A.P.
Here a, =a and d=8-5=3

Now a,=a,+d = 5=a+3 = 5-3=a = |a=2

Also a, =a,+3d = b=2+33) = | b=11

Question # 3

Find 6 A.Ms between 2 and 5 .

solution

Let A,A,, A, A, , Ay and A are six A.Ms between 2 and 5.

Then 2,A,,A,, A

VA A A5 arein ALP.

Here a, =2 and a, =5
=a+7d=5 = 2+7d=5

— 7d=5-2 = 7d=3 = d:%

7

So A =a,=a+d=2+ ¥ =17/
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A =a,=a+2d= 2+2(%) 2+%=207
A =aq, =a1+3d:2+3(

A =a,=a+4d=2+4

Hence —, —,—,— ,— ,— are six A.Ms between 2 and 5
7 7 7 7
Question # 4
Find 4 A.Ms between \/_ 2 and 12
2
Solution
12
Suppose A , A, , A, and A, are four A.Ms between V2 and \/5
12
Then\/E,A, ,A., A ,— arein A.P.
1 AZ 3 4 \/5
Here a —\/5 and a—£
1 6 \/5
12
g +5d="2 = 2+sd=12 = sq=12_ 5
V2 V2 V2
:>5d=E :>5d=£
V2 V2
2
2 (V2)
> d=—"ri=~"t = g=\2
V22

Now A= =a,+d = V2 +2=22
A =a,=aq +2d =2 +22 =32
A=a,=a +3d=2+32=42

,=as;=a, +4d = V2 +442=5\2

Hence 2\/_ 3\/_ 4\/_ 5\/_ are four A.Ms between \/_ 2 and —

=

12

V2

Question # 5

Insert 7 A.Ms between 4 and 8.
Solution Do yourself
Question # 6

Find three A.Ms between 3 and 11
Solution Do yourself
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Question # 7

Find n so that al—b
" +b

a

Solution
Since we know that A.M. (1)

But we have given AM. =

n n

n—1

Comparing (1) and (i1)

o Ypuusuuuuy

Question # 8

% .............. (i)
a'+b" _ a+b
a7+t 2
2@" +b)Y=(a+b)(a" +b")
2" +2b"=a" +a"'b+ab"' +b"
2a" +2b"—a"—b"=a""'b+ab""
a'+b"=a"'b+ab""
an _ an—lb — abn—l _ bn
a7 = abtt — prH
a ' (a-b)=b""(a-b)
an—l — bn—l
n—1

The solution is given at the end of Exercise 6.4.

may be the A.M. between a and b.
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Cross Xing

"n=n—-1+1

Thanks to Haider Ali - Kip's Evening Coaching and Faizan for reporting this.
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